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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

41- Holidays are often --—---—---mun- by public ceremonies, such as carnivals and religious
observance; they may also be simply a time for relaxation.
1) attended 2) presented 3) accompanied 4) concentrated

42- Penicillin, grown from a green mould, is a powerful -—-----—--—— of destroying harmful
germs in the human body.
1) way 2) fund 3) choice 4) means

43- Every society is ===
decisions and using power.
1) complex 2) severe 3) difficult 4) restricted

44- Europe is warming up quickly than the rest of the world, and cold winters could
disappear almost - by 2080 as a result of global warming.

and many different factors affect the process of making

1) strongly 2) entirely 3) honestly 4) fluently

45- I was just wondering how astronomers ------—----n--- their facts. I'm sure it takes a ton of
researching!
1) be in on 2) call down 3) engage in 4) come up with

PART B: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the correct choice on your answer sheet.

46- --—---=-=mmm-, my youngest brother will stay in bed for a very long time.
1) To be injured 2) Having injured
3) Having been injured 4) To have been injured
47- We Kknow you -------=-mm-—- as disappointed as we are, and we apologize and hope you
understand the circumstances were beyond our control.
1) were 2) must be 3) should be 4) may be
48- Itis hot and dry here; I wish | -----=--=--—-- on holiday soon.
1) will go 2) have gone 3) could go 4) would have gone
49- It is not possible to mark your screen incorrectly -------------—- the computer program will
present only one question on each screen.
1)if 2) unless 3) although 4) because
50- She said she would apply for the position after she had completed the English course,
9

1) didn't she 2) wouldn't she 3) hadn't she 4) wasn't she



PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Education begins the minute a baby is born and continues throughout life. Some
believe that education begins (51) --=--s-meeeene- before birth, as evidenced by some
parents playing music or reading to the baby in the womb in the hope it will influence
the child's development. For some. the struggles and triumphs of daily life are far more
instructive than formal schooling. Family members have an educational effect which is
quite profound - often more profound than they realize - though family teaching
(52) =mmemmemmmemnen . Formal education occurs (53) ===-ecmmmeeeem- society makes a
commitment to educate people, usually the young. Formal education can be systematic
and thorough, but the sponsoring group may seek selfish advantages when shaping
impressionable young scholars. Life-long or adult education has becomes
(54) —=mmmmmmenee . Lending libraries provide inexpensive informal access to books and
other self-instructional materials. Many adults have (55) -------=-eseun- the notion that
only children belong in school.

51- 1)so 2) even 3) still 4) yet
52- 1) may be highly informal 2) may highly be informal

3) highly may be informal 4) may be informal highly
53- 1) when 2) despite 3) before 4) in spite of
54- 1) obvious 2) ultimate 3) itinerate 4) widespread
55- 1) gonein 2) given up 3) taken up 4) kept after

| PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Does advertising encourage waste by persuading consumers to buy goods that they do
not need? In reply to this, it has been pointed out that all the consumer really needs, is
a bare minimum of clothing, food and shelter, and that one of the distinguishing marks
of any civilized community is that it lives well above the minimum subsistence level.
Most advertising is designed to influence the consumer's spending power. In western
countries, advertising has played a great part in bringing laboursaving equipment, and
so a degree of leisure. and even luxury, to millions. Advertising that encourages the
public to want more is also claimed to act as an incentive making people want to earn
more in order to buy the goods advertised. and therefore making them work harder.
For this reason advertising has been defended as having an essential part to play in the
move towards higher standards of living. The defenders of advertising also point out
that it is not solely concerned with encouraging the public to spend. Banks, insurance
companies and building societies are amongst the commercial advertisers who
encourage saving.
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56-

58-

59-

60-

This passage mainly ——----eeeeeeeee,

1) enlightens the public as to the misleading aspects of advertising

2) emphasizes the vital importance of advertising for banks and insurance companies
3) presents a positive attitude towards advertising and its benefits

4) draws attention to the large amounts of money wasted as a result of advertisements
Advertising, based on the passage, tries to ---- =

1) make working life more competitive and sociable

2) encourage people to attain higher and better standards of living

3) make the public better informed about how to manage their savings

4) advise working people on how to avoid excessive spending on luxury goods

It's referred in the passage that
1) advertising is most effectively practised in western countries

2) luxury goods are more extensively advertised than other goods

3) advertising does not always aim at making people spend

4) those who attack advertising are the people most affected by advertising
The subsistence level in line 4 refers to ----—eeeeex -,

1) the level of being in a welfare state

2) a state of being unable to buy the minimum needs

3) the conditions in which there is no need advertisement

4) a standard of living that provides only the bare necessities of life

The word "solely" in line 12 can be substituted by ------eeeeeeeee .
1) only 2) partly 3) hardly 4) commonly
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Directions: Match each definition with the correct word.

76- The set of software that controls a computer system.
1) Assembler 2) Compiler

3) Operating System 4) Control Software
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77- This Kkind of transmission consist of electrical signals representing data in binary code.

1) Analog 2) Circuit 3) Digital 4) Pulses
78- Used for the temporary storage of application.

1) BIOS 2) ROM 3) RAM 4) Hard Disk
79- Describing a device connected over a WAN,

1) Modem 2) Remote 3) LAN 4) Access
80- To load software on to a computer, ready for use.

1) Install 2) Built in 3) Application 4) Loader

PART B: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Many of the robots in use today do jobs that are especially difficult for human
workers. These are the types of jobs that require great strength or pose danger. For
example, robots are particularly useful in the auto manufacturing industry where parts
of automobiles must be webbed together. A welding tool used by a human worker
weighs about 100 pounds or more and is difficult to handle. As mechanical supermen.
robots may be called upon to do anything from moving heavy components between
workstations on a factory floor to carrying bags of cement.

Spray painting is another task suited to robots because robots do not need to breathe.
Unlike human painters, they are unaffected by the poisonous fumes. Robots are better
at this task. not because they are faster or cheaper than humans. but because they work
in place where humans cannot.

Third in the list of useful jobs for robots is the assembly of electronic parts. Robots
shine at installing chips in printed circuit boards because of a capability that robots
have that people don't. A robot, once properly programmed. will not put a chip in the
wrong place. This automatic accuracy is particularly valuable in this kind of industry
because locating and fixing mistakes is costly.

Earlier robots were usually blind and deaf but newer types of robots are fitted with
video cameras and other sensing devices that can detect heat, texture, size, and sound.
These robots are used in space projects. nuclear reactor stations. and underwater
exploration research.

In their efforts to expand the range of robotic applications. researchers are looking
beyond traditional designs to examine a variety of potential models from the biological
world. The industrial arm is a classic example. Scientists have been able to model
robots to imitate the vertebrate spine of a snake in order to paint the interior of
automobiles. They have simulated the muscle structure and movement of an elephant's
trunk in an attempt to create a robotic arm capable of lifting heavy objects. Scientists
have also emulated the flexibility of an octopus where the tentacles can conform to the
fragile objects of any shape and hold them with uniform, gentle pressure. A variation
of this design can be used to handle animals, turn hospital patients in their beds, or lift
a Small child.



V¥ axiso 507D Fyapals 42y

82-

84-

The challenge of equipping robots with the skills to operate independently, outside of
a factory or laboratory. has taxed the ingenuity and creativity of academic. military,
and industrial scientists for years.

Using the text, which statement best express the word "welded"?
1) Used by a human worker

2) Assembling components

3) Properly programmed. will not put a chip in the wrong place
4) (of pieces of metals) joined together by heating

The word "Shine at" in passage means:

1) Shy and shame at 2) Do very well at
3) Have a light of beam 4) Is very colorful
Scientists are looking bevond traditional designs for robots because they want
1) expand the range of applications

2) detect heat. texture, size and sound

3) examine a variety of potential models

4) to imitate the vertebrate spine of snake

Robots are better, because -

1) Robots may be called upon to do anything

2) Robots do not need to breathe

3) They work in a place where humans cannot

4) They are taster or cheaper than humans

A robot, will not put a chip in the wrong place because ——-----aeeeeev .
1) particularly valuable in this kind of industry

2) locating and fixing mistakes is costly

3) automatic accuracy

4) properly programmed
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void main()

{

int a=5,b=2;

cout<<a-b<<b++<<tt+a<<a--<<g++<<--a<<b--<<a+b;

}

31554427 (f

void main()

d

int x=5,y=

12;

int * const ptr=&x;

ptr=y;

cout<<*ptr<<ptr;

}
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int x=3;

void main()

{

int x=0;

switch (x++)

{

case 3 : cout << 3;break;
case 4 : cout << 4;break;
default : cout << 0;

case 5: cout << 5;break;

}
)

) (F o (v

void main()

{

int a,b;

if (a==0) cout<<'1";
else cout <<'2';

if (b=0) cout <<'3";
else cout <<'4";

H
13 (f 14 (v

sl 3500 plas Jolao pj &S 29,5 )oY

ob (Y Vo ()
! 0y90 plaS pj 05 29,5 -\oF

23 (v 24

Sl plas bz ¥ ] 29,5 )l e ) deliy o jl bas aw -14d

void main()
{
float 1 =10.0,12 = 3.3;

cout << static _cast < int > (f1) %static _cast < int > (f2);
cout << static _cast <int > (f1)/static _cast <int > (f2);

cout << f1%f2;

cout << f1/12;

cout << fl1%static _cast <int > (fZ);
cout << static _cast <int > (fl)%(ﬂ);
getch();

H
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131.0303 (v
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void main()

'

int ¢,f=1;
cout << ¢ <<f;
whilc(c <= 5)

f*=c++;
cout << ¢3
H

016 (f

void main()

{

int count =1;

int &cref = count;
int *cptr = &count;
cout << &count;
cout << &cref;

cout << & + +cref’;
cout << ++cref;
cout << *eptr;

cout << cptr;

}

4848503348 (¥

inline void cincout()

d

116 (¢

4848483148 (v

fowl plas’ p5 4ol (o295 Vo7

01120 (v 0124 ¢
S oaw! p‘.\f U”-’Ié ..L&lg FA }-")? count Qo)o'f ,ﬂ AL 4

4848503148 (v 4848483348 (\
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for (int a=0;a>=0;cin>>a,cout <<a*a*a<<'\ n');

H

void main()
{

cincout();

}
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void main()
{

char s[6];
cin >> s;

for (int i=strlen(s) —13i>=0 ;cout <<s[i—-]);

i

flawl plas 29,5 00l 0 lgZanan gog,9 5 51 14

nanaz (\

anaz (v

zanan (Y
nana (¥

Cagd 0 Wl ol oz slus ;3 g 39 o0 jolo [llegal Structure Operation pliy bas slas )3 -)).

void main()

t

int b[5] = {10,20,30,40,50};
int *bptr=10;

bptr =b;

bptr = &b[0];

cout << *(bptr+3)<<'\n'; //1
cout << *bptr+3<<"\n'; //2
cout <<b[3]<<"\n';  //3
cout <<bptr+3<<"\n'; //4
cout <<*(b+3)<<'\n'; //5
cout << bptr[3] <<"\n'; //6
cout <<b[3]<<"\n';  //7
cout <<b+=3; /18
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void f1();
intx = 13
void main()

'

intx = 9;
cout << X+ +;
{

x =1

cout << X+ +;
H

cout << ——x;
f10):f10);

cout << x;

|

void f1()

{

staticintx = 7;
cout << ++ X3

}
979697 (¥ 977997 ¢

int box(int I=1, int w=1, int h=1);
void main()

{

cout << box(l.0.3);

getch();

H

int box(int I, int w, int h)

t

if (I>0 &&w>0 && h>0)
return 1 *w *h;

else

return box();

H
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void main()
{
for (int i=9i<105i++)
do
{
cout << "*";
jwhile((i% =2)==0);
}

ol g (F Vo (¥ (Y Y ()
ol plas o Oljeamws 29> -)IF
int f1( const int a[], int key, int s );
void main()
{
inta[10] = {1, 2, 4, -6, 0, —12, 12, 10, 154, 12};
cout << f1(a, 12, 10 );
)
int fl(const int a||, int key, int s)
{
for (intj=0;j < s3)
if (afj++] = key )
return j;
return j — 13

)

A A\ Yo (¥ Error (\
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D pudles 29,5 s W g Cwwl s s plas (pj b 50 110
void cl( char *, const char * );
void main()

{

char s1[ 10 |;

char *s2 = "azmon "
char s3[ 10 ];

char s4]] = "12 Amordad";
cl(sl, s2);

cl(s3, s4):

cout << s2 << s4;

|

void cl( char *sl, const char *s2)

d
for(inti=0; (st[i++] =s2[i]) = "0% );//1
for(; ((*sl = *s2) != "0%sl++ 824+ )i //2

for(; (*sl++ = *s2++ ) != ’\0';): /13
for(; (*sl++ = *s2) != '\0';); /14
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UserPtr BufLin
UserLin BufPtr
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